C:# Multiplicar fracciones unitarias con larectanumeérica  Nombre:

Usalarecta numérica pararesolver. Respuestas
1) 0 1 2 3
%M: 4 | : | : | b L
2.
2) 0 1 2
%« . 4 | | | | | : > 3
4.
3) 0 1 2 3
4w%= 4+————t——F—+—+—+—F—+n 5
6.
4) 0 1 2 3
.%x5: 4—tf——+—+—+h 7
8.
5) 0 1
ex%: 4+—t+++—+—+—F+—+—h 9
10.
6) 0 1 2
.%xgz 4+———————+—F—+—+—+—+—+++h
7) 0 1 2 3 4
x7= 4t
8 0 1 2 3 4 5
Exlo: 44—
9) 0 1 2 3 4
—%xgz 4+—t—+——F—+—+—F—+—+—+n
10) 1 0 1 2 3 4 5 6 7
i—— 4—t+—t—+———t—F+—+++
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C:# Multiplicar fracciones unitarias con larectanumeérica  Nombre:

Usalarecta numérica pararesolver. Respuestas
0 0
1Y, A 5/, 3/
1.
2, 27, 37, Y,
17, 17, 2
1) 0 1 2 3 ;
Zxa= 4 : ; : ; : >
4.
2) 0 1 2
.%xzz 4 : : | : : | > 5
6.
3) 0 1 2 3
4&%: 4+——+t—+———+++—++t++b ,
8.
9 0 1 2 3
15 4+——ttt+—++F—+—>PH
9.
5 0 1 10.
Gxéz +—t+++——+—+——+++ b
6) 0 1 2
1i9- +—+—+—++—++—++t+++—+++++bPh
7) 0 1 2 3 4
x7= 4t
8 4 0 1 2 3 4 5
2 x10= 4+—t+—+—F—+—+—+—+—nm
9) 0 1 2 3 4
Loy 4—"-""'484—t+—4——"F——F—
10) 1 0 1 2 3 4 5 6 7
6% = 4+—F—+—t——t—+—F——F—+—+——F+n
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